Test Bank Questions by TEKS for Chapter 7
During basketball season Janie made 3 out of every 4 free throws she attempted.  In the last basketball game, Janie attempted 12 free throws.  How many free throws would she have been expected to make?
	A
	3

	B
	9

	C
	27

	D
	36



The Dental Association claims that 3 out of 7 people do NOT brush their teeth properly.  If 35 people were surveyed, about how many people brush their teeth properly?

	A
	3

	B
	7

	C
	15

	D
	20


Sound is measured using decibels.  The average horn on a car is 60 decibels while the noise from the traffic on a highway is 80 decibels.  Which ratio represents the decibels from the traffic on a highway to a car horn?

	A
	3/4

	B
	4/3

	C
	20/1

	D
	1/20


Australia is known for having the largest population of poisonous snakes.  Eight out of the 18 kinds of snakes found in Australia are poisonous.  What is the ratio of poisonous snakes to nonpoisonous snakes?

	A
	4/5

	B
	5/4

	C
	4/9

	D
	5/9


 

The ratio of tomato plants to cucumber plants in Mr. Arnold’s garden is 8 to 6.  Which is NOT another way of writing the ratio of tomato plants to cucumber plants?
	A
	8/6

	B
	4 to 3

	C
	3/4

	D
	4:3


Which equation would you use to find the value of x in the proportion:  4 =  x








       6     24

	A
	4 • 6 = 24x

	B
	4 • 24 = 6x

	C
	4x = 6 • 24

	D
	4x = 4 • 24



Three out of every 8 pieces of mail that the Cunningham family receives is junk mail.  In one week the Cunningham family received 16 pieces of mail.  Which proportion can be used to find x, the number of pieces of junk mail the Cunninghams received?

	A
	3  =  x

8    16

	B
	8  =  x

3    16

	C
	3  =  8

16    x

	D
	3 =  16

8     x

                                                                                  


Which pair of ratios forms a proportion?
	A
	4  ,  6
5    25

	B
	2  ,  10

5     25

	C
	1  ,  6

3    10

	D
	4  ,   5
7      8



Along the nature trails at the Botanical Gardens, there is one sign every 75 feet that tells about the plants and animals within the Botanical Gardens.

Botanical Garden Trail Lengths

	Trail
	Length in Feet

	Butterfly Trail
	1,500

	Nature Trail
	3,750

	Native Plant Trail
	1,125


Which proportion can be used to find x, the number of signs along the Nature Trail?

	A
	x    =   1500
1          75

	B
	x    =   1125
1          75

	C
	1    =      x              
75      3750

	D
	75    =     x  
 1         3750


Allie drove from her home to College Station in 3 hours.  It took her another 1 ¾  hours to get to Houston, Texas.  If she arrived at 6:30 P.M., when did she leave home? Which method would work best to solve this problem?
	A
	Find a pattern

	B
	Guess and check

	C
	Work backward

	D
	Write a number sentence



There are 60 girls in the 140-member high school marching band. What is the ratio of boys to girls in the band?

	A
	3 to 4

	B
	4 to 3

	C
	6 to 8

	D
	8 to 6


Matt Johnson and Matt Scharr form a painting company called “Matt Coat.” Working alone, Matt J. can paint 3 rooms in 5 days, but Matt S. can only paint 1 room in 3 days. Every house they paint has 5 rooms.
Working together, how many rooms can they paint in 10 days?

	A
	10

	B
	14

	C
	9 1/3

	D
	6



The Quadlings are an alien race from the planet Quadloo. If 4 Quadlings have

12 legs, how many legs does each Quadling have?
	A
	3

	B
	48

	C
	12

	D
	6


Mr. Boney’s class has 3 boys for every 2 girls. Suppose there are 10 girls in Mr. Boney’s class. 
How many boys are there in the class? How many students total?
	A
	30 boys, 40 total students 

	B
	15 boys, 25 total students

	C
	20 boys, 30 total students

	D
	50 boys, 60 total students



Mrs. White’s class conducted a survey to determine favorite types of music within the 6th grade class.  The results are listed below.  

	Type of Music
	 Number of People

	Country
	80

	Classic Rock
	32

	Hip Hop
	50

	Other
	40


What is the ratio of Classic Rock to Country music?

	A
	5 to 2

	B
	2 to 5

	C
	4 to 5

	D
	5 to 4


An object that weighs 20 pounds on Earth would weigh 8 pounds on Mars.  If Luis weighs 140 pounds on Earth, how much would he weigh on Mars?

	A
	28 lbs

	B
	8 lbs

	C
	56 lbs

	D
	20 lbs



Jerome loves eating apples. If Jerome eats p apples in q hours, then how many apples will he eat in t hours?
	A
	pqt  apples 

	B
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Mrs. Doubtfire’s local grocery store normally sells strawberries for $t per strawberry. She uses these strawberries to make her delicious strawberry jam. If it takes p strawberries to make q jars of jam, how much does it cost to make r jars of jam? (Assume p,q,r,t to be greater than 0). (Free response)
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